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@OHJT OLIEHOYHBIX CPEACTB PACCMOTPEH M OJ0OPEH HA 3aceAaHUM YUYEHOIO
coBera uHcTUTyTa (mpoTokosa Ne 2 ot 07.06.2024 r.) u yTBep)KIeHa MPHUKA30M
pekropa Ne 34 ot 07.06.2024 1.

Cneunduxanus GoHaa OeHOYHBIX CPEICTB

1. Haznavyenue ¢oHIa OLIEHOYHBIX CPEACTB.

@oHJI OLIEHOYHBIX cpeacTB no cneuranbHoct 31.05.03 Cromatonorus
(YpoBeHb cCHENMATUTETa) COCTAaBJICH MJig NPOBEICHUS TEKYIIEro KOHTPOJA H
MPOMEXKYTOUHOM  aTTecTali  oOydYaromuxcss MO  JUCHUIIIMHE  (MOIYIIO)
«/IHOCTpaHHBIN SA3BIKY.

2. HopMaTnBHOE OCHOBaHHE 0TOOPA COEPKAHMS:

- @enepalibHbIN TOCYIAPCTBEHHBIN 00pa30BaTEIbHBIM CTaHIAPT BBICHIETO
oOpazoBaHus - crenuaiurer 1Mo cnenuanbHoct 31.05.03. Cromatomorus,
yTBepkeHHbIM [Ipukasom MuHHCTEpCTBA HAyKM M BBICIIETO OOpa3oBaHUs
Poccniickon @enepanuu ot 12 aBrycra 2020 r. Ne 984.

- Ilpodeccuonanpubiii ctanmpapt «Bpad-cTomMaronor», yTBEpkKACHHBIN
nprkazoM MHUHUCTEPCTBA TPyJa U COLMAIbHOM 3amuThl Poccuiickor denepanun
or 10 mas 2016 r. Ne 227H (3apeructpupoBaH MHHHCTEPCTBOM FOCTHILIMH
Poccuiickoit @enepanuu 2 utons 2016 r., peructpanronusii N 42399).

- O0mras xapakTepucTUKa OCHOBHON 00pa30BaTeIbHOM MPOrpaMMBI.

- YueOHblii 1J1aH OCHOBHOM 00pa30BaTeIbHOM MPOrpaMMBI.

- YcTaB u JoKanbHbIe akThl MHCTUTYTA.

- Pabouas nporpamma b1.0.14 MHOoCTpaHHBII A3BIK.



1. PacnipenesieHue TeCTOBBIX 32/IaHUI 10 KOMIIETEHIIUAM

Kon HaumenoBanue HaumenoBanue unaukaropa | Cemectp Howmep
KOMIIETEHIINHU KOMIIETEHIIUHU c(hOpMUPOBAHHOCTH TECTOBOT'O
KOMITETCHIIMH 3a/IaHusI
YK-4 Cnocoben MIPUMEHSATH NYK-4.1. Criocoben 1 1-10
COBPEMEHHBIC YCTaHABIIMBATh U PAa3BUBATH
KOMMYHHUKATUBHBIE npodeccuoHanbHbIe
TEXHOJIOTHH, B TOM YHUCJI€ | KOHTAaKThl, BKJIIOYasi OOMEH
Ha WHOCTPaHHOM(BIX) uHpopmanuen,
A3bIKe(ax), JUIS pe3yapTaTaMu
aKaJIEeMUYECKOTO u npodeccuoHanbHOM
npodeccnoHaIbHOTO JIeATEILHOCTH, a TOM YHCIIe
B3aUMOJCICTBUSA Ha HHOCTPAHHOM SI3bIKE
2. PacnpenesieHue 3aJaHuii 0 TUNIAM U YPOBHIO CJI0KHOCTH
bazoBrrit Bocnpownssenenne
TepmuHosiorus, hakThl, MapaMeTPbl, TCOPUH, IIPUHITUTIBI
3ananus ¢ BeiOOpoM oTBeTa. KOMOMHMpOBaHHBIE 33 1aHUS
[loBbI11IEHHBIN [IpuMeHeHHe 3HaHUM U YMEHHMI 17151 pacueTra MoKas3aTesedl B SJKOHOMHUKE
Perrenre TUIIOBBIX 33124 C UCMOJIB30BAHUEM SKOHOMUYECKHUX METOJIOB
KombOunmnpoBanHbie 3aanus. 3aanusi ¢ pa3BepHYThIM OTBETOM
Bricoknii [IpuMeHeHHe 3HaHUM B HECTAaHAAPTHON CUTyaluu
Pemiennie HeTUNIOBBIX 33124, AITOPUTMBI, JI0KA3aTEIbCTBA, 0OOCHOBAHHUS
3ajaHus Ha YCTaHOBJIEHUE MTOCJIEI0BATEIbHOCTH U COOTBETCTBUE. 3a/IaHHUS C
pa3BEPHYTHIM OTBETOM
Kon Wupukarop Howmep Tun 3ananus YpoBeHb Bpems
KOMIIeTeH | chopmMupoBaH | 3amaHus CJIO)KHOCTH | BBITIOJTHCHUS
1005051 HOCTH 3a/1aHUS (MuH.)
KOMITETCHIINH
YK-4. NYK-4.1. 1 TecTtoBoe  3amaHue | BBICOKUUI 5-10 muH.
Crnocoben 3aKpHITOrO THIA Ha
YCTaHaBIIUBATh YCTaHOBJICHUE
U pa3BHUBaTh COOTBETCTBUS
npodeccuonan | 2 TecroBoe  3amaHue | BBICOKUU 5-10 muH.
bHBIE 3aKpBITOTO THUIMA Ha
KOHTAaKTBhI, YCTaHOBJICHHE
BKJTFOYAst COOTBETCTBUS
oOMeH 3 TecTtoBoe  3amaHue | BRICOKUU 5-10 MuH.
uH(popmanuen 3aKpBITOrO THMA Ha
U BBIPabOTKY YCTaHOBJICHUE
cTpaTeruu COOTBETCTBUS
B3aMMOJEHUCTB | 4 TectoBoe  3amaHue | BLICOKHH 5-10 MuH.
2b:! 3aKpBITOrO THIIA Ha
YCTaHOBJICHUE
COOTBETCTBUS
5 TecroBoe  3amaHue | BBICOKUU 5-10 muH.
3aKpBITOTO THIMA Ha
YCTaHOBJICHUE




COOTBETCTBUS

6 TecroBoe  3amaHue | BEICOKUHI 5-10 muH.
3aKpBITOTO THIA Ha
YCTaHOBJICHHE
COOTBETCTBUS

7 3ajanre ¢ BHIOOPOM | MOBBIIMICHHBI | 3 MUH
BEPHOI'0 OTBETA i

8 3ajanre ¢ BHIOOPOM | MOBBIIMICHHBI | 3 MUH
BEPHOI'0 OTBETA i

9 3ajanre ¢ BHIOOPOM | MOBBIIMICHHBI | 3 MUH
BEPHOI'O OTBETA i

10 3ajanre ¢ BHIOOPOM | MOBBIIMICHHBI | 3 MUH
BEPHOI'O OTBETA u

3. CueHapuu BbINOJHEHHUS TECTOBBIX 3aaHU I

Tun 3agannsa

ITocenoBaTenpHOCTh ACMCTBUI IIPU BBIIOJHEHUH 3a1aHUS

3aﬂaHI/Ie 3aKPbITOI'O THUIIA
Ha YCTaHOBJICHHUC
COOTBCTCTBUA

1. BHuMaTeapHO MPOYMTATh TEKCT 33JIaHUS U MTOHATh, YTO B KA4eCTBE
OTBETa OKHUJIAIOTCS TIAPhI SJICMEHTOB.

2. BuuMarenpHO mpovuTaTh 00a CIIMCKA: CIIMCOK 1 BOIPOCHI,
YTBEPKACHHUS, (DAKTHI, IOHATHUS U T.].; CIIUCOK 2 YTBEP)KICHHSI, CBOHCTBA
00BEKTOB U T.II.

3. ConocTaBuTh 3JIEMEHTHI CIIMCKA 1 ¢ DJIeMEHTaMHU CIIMCKA 2,
chopMupoBaTh Mapbl JJIEMEHTOB.

4. 3anucath momapHo OyKBBI U H(PHI (B 3aBHCUMOCTH OT 33/1aHUS)
BapHUaHTOB OTBETA

3aiaHue 3aKphITOro TUMa
Ha YCTaHOBJIEHUE

1. BaumarenbHO MMPOYNTaTh TCKCT 3aJJlaHUS U ITOHATH, YTO B KaUCCTBC
OTBCTaA OKHMAACTCA ITOCICA0OBATCIIBHOCTL 3JICMCHTOB.

MOCJIEA0BATEIbHOCTH 2. BHUMaTenpHO MPOYUTATH NPEATIOKEHHBIE BAPHAHTHI OTBETA.
3. IlocTpouTh BEepHYIO MOCIEA0BATEILHOCTD U3 MPEIOKEHHBIX
3IIEMEHTOB.
4. 3anucatb OyKBBI/LIUGPHI (B 3aBUCMOCTH OT 33JJaHHs) BApUAHTOB OTBETA
B HY’KHOM 1OCJIeIOBAaTENbHOCTH 0€3 IPOOEoB U
3HAKOB NPENUHAHUS

3amganue 1. BHUMAaTeNbHO MPOYMTATh TEKCT 33JaHHUS M TOHITH, YTO B KauecTBE

KOMOHWHHUPOBAaHHOI'O THIIA
C  BBIOOPOM  BEpPHOrO
OoTBETa M OOOCHOBAaHUEM

OTBETA OKUJAETCS TOJIBKO OJUH U3 NPEIIOKEHHBIX BAPUAHTOB.
2. BHMMaTenpHO MPOYUTATh MPEI0KEHHBIE BAPHAHTHI OTBETA.
3. BeiOpaTh BepHbIi OTBET, HauboJIee BEPHBIN.

BBIOOpA u3 | 4. 3anucath TOJIBKO HOMEp (Wi OyKBY) BEIOpAaHHOTO BapuaHTa OTBETA.
MPEAJIOAKEHHBIX 5. 3anucath apryMeHThI, 000CHOBBIBAIOIINE BEIOOP OTBETA.
3ananue 1. BaumaTenpbHO MpOUYMTATh TEKCT 3aJaHUSl M TOHATh, YTO B KadyeCTBE

KOMOWHHUPOBAaHHOTO TUIIA
C BEIOOPOM HECKOJIBKUX
BEPHBIX OTBETOB U
000CHOBaHKEM BbIOOpa
U3 IPEJI0KEHHBIX

OTBETA 0’)KUJAETCSI HECKOJIBKO U3 IPEUI0KEHHBIX BAPUAHTOB.

2. BHMMaTenpHO MPOYUTATh MPEI0KEHHbIE BAPHAHTHI OTBETA.

3. BeIOpaTh HECKOJIBKO OTBETOB, HA0OJIee BEPHBIX.

4. 3anucarb TOJIbKO HOMepa (Uiau OyKBbI) BHIOpaHHBIX BApHAHTOB OTBETA.
5. 3anmcarpk apryMeHTbl, 000CHOBBIBAIOIIME BEIOOP OTBETOB.

3ajaHue OTKPBITOTO THIIA
C pa3BEPHYTHIM OTBETOM

1. BHuMareabHO MPOYUTATh TEKCT 3aJJaHUsl U MOHITH CYyTh BOIPOCA.
2.Ilpoxymatb JIOTUKY U MOJHOTY OTBETA.

3.3anucarh OTBET, UCIOJIB3YS YETKHE KOMITAKTHbBIE (POPMYITUPOBKH.
4.B ciydae pacueTHOM 3aJa4H, 3allMCaTh PEUIEHUE U OTBET.




4. Cucrema OlleHUBAHHUS BbINOJTHEHNS TECTOBBIX 3aJJaHUH

Howmep VYKa3aHus 10 OLIEHUBAHUIO Pesynbrar onenuBanus (Oauibl,
3alaHus IIOJIyYeHHBbIE 32  BBIIIOJIHEHUE
3aJJaHNs/XapaKTEPUCTHKA
IPaBUIbHOCTU OTBETA)
1-6 3ajaHue 3aKpbITOro THNA Ha ycraHoBieHue | [loaHoe coBmajgeHue ¢ BEPHBIM
COOTBETCTBUSl ~ CUMTAETCS  BEPHBIM, €CJIM | OTBETOM OLleHMBaeTcs 1 OamioM
IIPaBUJIBHO YCTAHOBJICHBI BCE COOTBETCTBUSA | HeBepHBI  OTBET WIHM  €ro
(mo3unuu M3 ofgHoro croubma  BepHO | oTcyTcTBHE 0 6amuioB
COIIOCTABJIEHBI C TO3ULIUSIMU APYTOT0)
- 3ajaHue 3aKpbITOrO TUNA Ha ycraHoBieHue | [loaHoe coBmageHue ¢ BEpHBIM
II0CJIE0BATEIBHOCTA CYUTAETCSI BEPHBIM, €CIIM | OTBETOM OLEHUBaeTCs 1 Oamiom
IPaBWIbHO yKa3zaHa BCsl IOCJeNOBaTeNbHOCTh | Eciin  nomymieHsl ommOKH WU
dp otBeT oTcyTcTBYeT 0 6asmioB
7-10 3agaHue ¢ BHIOOPOM OHOT0 BepHOro orBeTa u3 | CoBlazieHne ¢ BEPHBIM OTBETOM

MPEII0KEHHBIX

orieHuBaercs 1 6amom
HeBepubiii  oTBeT
otcytcTBre O 6aioB

50048 €ro

3aaHue KOMOMHHUPOBAHHOI'O THUIIA C BHIOOPOM
HECKOJIbKUX BapUaHTOB oTBETa u3
NPEUIOKEHHBIX ¢ OOOCHOBaHMEM BBIOOpA
OTBETOB CYMTAETCS] BEPHBIM, €CIM INPaBHIBHO
yKa3zaHbl TUGPBl M TPHUBEICHBI KOPPEKTHBIE
apryMeHTBbI, UCIIOJIb3YEMble ITPU BBIOOPE OTBETA

IlonHoe coBnajgeHue C BEPHBIM
OTBETOM OlleHuBaeTcs 1 6ayiom
Ecim pomyimeHsl OMMOKK WIIN
otBeT oTcyTcTBYeT 0 6amioB

3ajaHue OTKPBITOTO THMIA C Pa3BEPHYTHIM
OTBETOM CUMTAETCA BEPHBIM, €CIH OTBET
COBIIANAET C DJTAJOHHBIM IIO COACPXKAHUIO HU
MIOJIHOTE

IlonHblli NpPaBWIBHBIA OTBET Ha
3aJlaHuE OlleHUBaeTcs 3 OamiamMu
Ecmu JOIyIIEHA OJHA
OLIMOKa/HETOYHOCTH/OTBET
MpPaBWIbHBIMA, HO HE MOJHBIA |
Oai,

Ecoun  pomymeno Oomee omHOM
OLIMOKH/OTBET  HENpPaBUIbHBIN/
0TBeT OTCYTCTBYeT 0 OasioB




TecToBbI€e 3a1aHU, 103BOJISIIONIEE OCYLIECTBIATH OLIEHKY KOMIETEeHI[UH
YK-4 (MYK-4.1), ycTtaHOBJIeHHOM padoyeil MPporpaMMoi AUCHUIIIHHbBI
(monyas) b1.0.14 «MHOCTpaHHBIH SA3BIK» 00Pa30BaTEJIbHOM MPOrPaMMBbI 10
cnenuaiabHocT 31.05.03, CromaToJiorust (YypOBeHb CHIEMATUTETA)

THUIIbl TECTOBBIX 3A/IAHUM:
TecroBble 3aJaHUs 32AKPBITOr0 THIIA HA YCTAHOBJICHHE COOTBETCTBHS.

3aganune Nel
Ilpouumaiime mexcm u ycmanogume cOOmeemcmaue nPuBeO0eHH020 YmeepHcoOeHus:
COO0epIHCAHUI0 MeKCma

Read the text.

Structure and the Functions of the Teeth

A tooth that is visible in your mouth is only a part of the entire tooth. The root
of the tooth is completely buried into the jaw bone.

A tooth consists of enamel, dentin, cementum and pulp tissue. The portion of
a tooth exposed to the oral cavity is known as the dental crown, and the portion
below the dental crown is known as the tooth root. The dental pulp cavity exists in
the center of the tooth, through which the dental pulp, called the nerve, runs. In order
to receive an impact on the tooth and to absorb and alleviate the force on the jaw,
the surface of the tooth root area (cementum) and the alveolar bone are connected
by a fibrous tissue called the periodontal ligament. The tooth is supported by the
tissue consisting of the alveolar bone, gums and the periodontal ligament.

. Enamel: The hardest bodily tissue covering the surface of the dental
crown. It is as hard as crystal (7 on the Mohs scale of mineral hardness).
. Dentin: The tissue that forms the tooth from the dental crown to the

tooth root, situated inside the enamel and cementum. It is softer than the enamel. A
small tube filled with tissue fluid, called the dentinal tubule, runs inside the dentin.

. Cementum: The tissue covering the surface of the tooth root. It connects
the alveolar bone with the tooth by the periodontal ligament. Its hardness is similar
to bone.

. Dental pulp: The tissue is called the nerve. Blood vessels and the lymph
vessels, as well as nerve fibers, are located in the dental pulp, supplying nutrients to
the dentin.

. Periodontal ligament: Tissue consisting mainly of the fibrous tissue that
connects the tooth root and the alveolar bone. It prevents force applied to the tooth
from being directly imposed on the alveolar bone while chewing food.

. Alveolar bone: The jaw bone supporting the tooth; the tooth is planted
into this bone. When a large part of the alveolar bone is destroyed by periodontal
disease or other causes, the tooth becomes loose.

. Gingiva: The soft tissue covering the alveolar bone. It is generally
called “gum”.



. Gingival sulcus: The small space between the tooth and the gums. Even
people with healthy teeth usually have a depth of 1 to 2 mm in this space. When this
space deepens due to inflammation, it is called the periodontal pocket or gingival
pocket.

The canines are the third permanent teeth from the center of the mouth to the
back in the upper and lower jaws. There are a total of 4 canines, two in the upper
jaw and two in the lower. They are used to tear food.

The teeth located behind the canines grind food like a mill. In milk teeth, there
are two molars, each on the left and right sides of the upper and lower jaws. In
permanent teeth, there are two premolars and molars each on the left and right sides
of the upper and lower jaws, for a total of 16 molar teeth (20 when counting the
wisdom teeth).

With the growth of the body, the jaw grows bigger. As the jaw grows,
children’s teeth, or “milk teeth” are replaced by adult teeth known as “permanent
teeth”. When all of a child's permanent teeth have emerged, the chewing force
becomes stronger, enabling them to eat various types of food easily. Permanent teeth
are very important teeth, which a person uses for the entire course of their life.

Human teeth only transition from milk teeth to permanent teeth once. All of
the milk teeth emerge at an age from two to three; however, since the jaw bone
continues to grow, the sizes of the teeth and the jaw gradually become imbalanced.
When the cells that break down the tissue appear around the roots of the milk teeth,
the roots gradually dissolve and are absorbed, becoming shorter in height. When the
permanent teeth become large enough, the milk teeth naturally start to fall out. By
about age 12, all of the milk teeth are replaced by 28 permanent teeth.

Are these statements true or false?
The root of the tooth is completely buried into the jaw bone.

OrtBeT:

3aganue Ne2.
Ilpouumaiime mexcm u ycmanogume cOOmMeemcmaue nPUBeOeHHO20 YmeepHcOeHUs:
COO0EPIHCAHUIO MeKCMA.

Read the text.

Structure and the Functions of the Teeth

A tooth that is visible in your mouth is only a part of the entire tooth. The root
of the tooth is completely buried into the jaw bone.

A tooth consists of enamel, dentin, cementum and pulp tissue. The portion of
a tooth exposed to the oral cavity is known as the dental crown, and the portion
below the dental crown is known as the tooth root. The dental pulp cavity exists in
the center of the tooth, through which the dental pulp, called the nerve, runs. In order
to receive an impact on the tooth and to absorb and alleviate the force on the jaw,
the surface of the tooth root area (cementum) and the alveolar bone are connected



by a fibrous tissue called the periodontal ligament. The tooth is supported by the
tissue consisting of the alveolar bone, gums and the periodontal ligament.

. Enamel: The hardest bodily tissue covering the surface of the dental
crown. It is as hard as crystal (7 on the Mohs scale of mineral hardness).
. Dentin: The tissue that forms the tooth from the dental crown to the

tooth root, situated inside the enamel and cementum. It is softer than the enamel. A
small tube filled with tissue fluid, called the dentinal tubule, runs inside the dentin.

. Cementum: The tissue covering the surface of the tooth root. It connects
the alveolar bone with the tooth by the periodontal ligament. Its hardness is similar
to bone.

. Dental pulp: The tissue is called the nerve. Blood vessels and the lymph
vessels, as well as nerve fibers, are located in the dental pulp, supplying nutrients to
the dentin.

. Periodontal ligament: Tissue consisting mainly of the fibrous tissue that
connects the tooth root and the alveolar bone. It prevents force applied to the tooth
from being directly imposed on the alveolar bone while chewing food.

. Alveolar bone: The jaw bone supporting the tooth; the tooth is planted
into this bone. When a large part of the alveolar bone is destroyed by periodontal
disease or other causes, the tooth becomes loose.

. Gingiva: The soft tissue covering the alveolar bone. It is generally
called “gum”.
. Gingival sulcus: The small space between the tooth and the gums. Even

people with healthy teeth usually have a depth of 1 to 2 mm in this space. When this
space deepens due to inflammation, it is called the periodontal pocket or gingival
pocket.

The canines are the third permanent teeth from the center of the mouth to the
back in the upper and lower jaws. There are a total of 4 canines, two in the upper
jaw and two in the lower. They are used to tear food.

The teeth located behind the canines grind food like a mill. In milk teeth, there
are two molars, each on the left and right sides of the upper and lower jaws. In
permanent teeth, there are two premolars and molars each on the left and right sides
of the upper and lower jaws, for a total of 16 molar teeth (20 when counting the
wisdom teeth).

With the growth of the body, the jaw grows bigger. As the jaw grows,
children’s teeth, or “milk teeth” are replaced by adult teeth known as “permanent
teeth”. When all of a child's permanent teeth have emerged, the chewing force
becomes stronger, enabling them to eat various types of food easily. Permanent teeth
are very important teeth, which a person uses for the entire course of their life.

Human teeth only transition from milk teeth to permanent teeth once. All of
the milk teeth emerge at an age from two to three; however, since the jaw bone
continues to grow, the sizes of the teeth and the jaw gradually become imbalanced.
When the cells that break down the tissue appear around the roots of the milk teeth,
the roots gradually dissolve and are absorbed, becoming shorter in height. When the
permanent teeth become large enough, the milk teeth naturally start to fall out. By
about age 12, all of the milk teeth are replaced by 28 permanent teeth.



Are these statements true or false?
The tooth is supported by the tissue consisting of the blood.

OrtBer:

3aganune Ne3.
IIpouumatime mexcm u ycmanosume cOOmMEENCmaue NPUBEOeHHO20 YmeepiHcOeHuUs.
COOEPIHCAHUIO MeKCmA.

Read the text.

Structure and the Functions of the Teeth

A tooth that is visible in your mouth is only a part of the entire tooth. The root
of the tooth is completely buried into the jaw bone.

A tooth consists of enamel, dentin, cementum and pulp tissue. The portion of
a tooth exposed to the oral cavity is known as the dental crown, and the portion
below the dental crown is known as the tooth root. The dental pulp cavity exists in
the center of the tooth, through which the dental pulp, called the nerve, runs. In order
to receive an impact on the tooth and to absorb and alleviate the force on the jaw,
the surface of the tooth root area (cementum) and the alveolar bone are connected
by a fibrous tissue called the periodontal ligament. The tooth is supported by the
tissue consisting of the alveolar bone, gums and the periodontal ligament.

. Enamel: The hardest bodily tissue covering the surface of the dental
crown. It is as hard as crystal (7 on the Mohs scale of mineral hardness).
. Dentin: The tissue that forms the tooth from the dental crown to the

tooth root, situated inside the enamel and cementum. It is softer than the enamel. A
small tube filled with tissue fluid, called the dentinal tubule, runs inside the dentin.

. Cementum: The tissue covering the surface of the tooth root. It connects
the alveolar bone with the tooth by the periodontal ligament. Its hardness is similar
to bone.

. Dental pulp: The tissue is called the nerve. Blood vessels and the lymph
vessels, as well as nerve fibers, are located in the dental pulp, supplying nutrients to
the dentin.

. Periodontal ligament: Tissue consisting mainly of the fibrous tissue that
connects the tooth root and the alveolar bone. It prevents force applied to the tooth
from being directly imposed on the alveolar bone while chewing food.

. Alveolar bone: The jaw bone supporting the tooth; the tooth is planted
into this bone. When a large part of the alveolar bone is destroyed by periodontal
disease or other causes, the tooth becomes loose.

. Gingiva: The soft tissue covering the alveolar bone. It is generally
called “gum”.

. Gingival sulcus: The small space between the tooth and the gums. Even
people with healthy teeth usually have a depth of 1 to 2 mm in this space. When this
space deepens due to inflammation, it is called the periodontal pocket or gingival
pocket.



The canines are the third permanent teeth from the center of the mouth to the
back in the upper and lower jaws. There are a total of 4 canines, two in the upper
jaw and two in the lower. They are used to tear food.

The teeth located behind the canines grind food like a mill. In milk teeth, there
are two molars, each on the left and right sides of the upper and lower jaws. In
permanent teeth, there are two premolars and molars each on the left and right sides
of the upper and lower jaws, for a total of 16 molar teeth (20 when counting the
wisdom teeth).

With the growth of the body, the jaw grows bigger. As the jaw grows,
children’s teeth, or “milk teeth” are replaced by adult teeth known as “permanent
teeth”. When all of a child's permanent teeth have emerged, the chewing force
becomes stronger, enabling them to eat various types of food easily. Permanent teeth
are very important teeth, which a person uses for the entire course of their life.

Human teeth only transition from milk teeth to permanent teeth once. All of
the milk teeth emerge at an age from two to three; however, since the jaw bone
continues to grow, the sizes of the teeth and the jaw gradually become imbalanced.
When the cells that break down the tissue appear around the roots of the milk teeth,
the roots gradually dissolve and are absorbed, becoming shorter in height. When the
permanent teeth become large enough, the milk teeth naturally start to fall out. By
about age 12, all of the milk teeth are replaced by 28 permanent teeth.

Are these statements true or false?
Cementum is the tissue covering the surface of the tooth root.

OrtBeT:

3aganue Ne4.
IIpouumatime mexcm u ycmanosume cOOmeemcmeaue nPuBeOeHHO20 YmeepiHcoeHUs.
COO0epIHCAHUI0 MeKCma.

Read the text.

Structure and the Functions of the Teeth

A tooth that is visible in your mouth is only a part of the entire tooth. The root
of the tooth is completely buried into the jaw bone.

A tooth consists of enamel, dentin, cementum and pulp tissue. The portion of
a tooth exposed to the oral cavity is known as the dental crown, and the portion
below the dental crown is known as the tooth root. The dental pulp cavity exists in
the center of the tooth, through which the dental pulp, called the nerve, runs. In order
to receive an impact on the tooth and to absorb and alleviate the force on the jaw,
the surface of the tooth root area (cementum) and the alveolar bone are connected
by a fibrous tissue called the periodontal ligament. The tooth is supported by the
tissue consisting of the alveolar bone, gums and the periodontal ligament.

. Enamel: The hardest bodily tissue covering the surface of the dental
crown. It is as hard as crystal (7 on the Mohs scale of mineral hardness).



. Dentin: The tissue that forms the tooth from the dental crown to the
tooth root, situated inside the enamel and cementum. It is softer than the enamel. A
small tube filled with tissue fluid, called the dentinal tubule, runs inside the dentin.

. Cementum: The tissue covering the surface of the tooth root. It connects
the alveolar bone with the tooth by the periodontal ligament. Its hardness is similar
to bone.

. Dental pulp: The tissue is called the nerve. Blood vessels and the lymph
vessels, as well as nerve fibers, are located in the dental pulp, supplying nutrients to
the dentin.

. Periodontal ligament: Tissue consisting mainly of the fibrous tissue that
connects the tooth root and the alveolar bone. It prevents force applied to the tooth
from being directly imposed on the alveolar bone while chewing food.

. Alveolar bone: The jaw bone supporting the tooth; the tooth is planted
into this bone. When a large part of the alveolar bone is destroyed by periodontal
disease or other causes, the tooth becomes loose.

. Gingiva: The soft tissue covering the alveolar bone. It is generally
called “gum”.
. Gingival sulcus: The small space between the tooth and the gums. Even

people with healthy teeth usually have a depth of 1 to 2 mm in this space. When this
space deepens due to inflammation, it is called the periodontal pocket or gingival
pocket.

The canines are the third permanent teeth from the center of the mouth to the
back in the upper and lower jaws. There are a total of 4 canines, two in the upper
jaw and two in the lower. They are used to tear food.

The teeth located behind the canines grind food like a mill. In milk teeth, there
are two molars, each on the left and right sides of the upper and lower jaws. In
permanent teeth, there are two premolars and molars each on the left and right sides
of the upper and lower jaws, for a total of 16 molar teeth (20 when counting the
wisdom teeth).

With the growth of the body, the jaw grows bigger. As the jaw grows,
children’s teeth, or “milk teeth” are replaced by adult teeth known as “permanent
teeth”. When all of a child's permanent teeth have emerged, the chewing force
becomes stronger, enabling them to eat various types of food easily. Permanent teeth
are very important teeth, which a person uses for the entire course of their life.

Human teeth only transition from milk teeth to permanent teeth once. All of
the milk teeth emerge at an age from two to three; however, since the jaw bone
continues to grow, the sizes of the teeth and the jaw gradually become imbalanced.
When the cells that break down the tissue appear around the roots of the milk teeth,
the roots gradually dissolve and are absorbed, becoming shorter in height. When the
permanent teeth become large enough, the milk teeth naturally start to fall out. By
about age 12, all of the milk teeth are replaced by 28 permanent teeth.

Are these statements true or false?
When a large part of the alveolar bone is destroyed by periodontal disease or other
causes, the tooth becomes stronger.



OrtBer:

3aganune Neb
IIpouumaiime mexcm u ycmanogume coomeemcmaeue.

VYkaxuTe COOTBETCTBHE TEPMHUHA HA aHTJIMMCKOM SI3BIKE €TI0 3HAUCHHUIO Ha PYCCKOM
SI3BIKE:

K kaxmol mo3unuu, JaHHOW B JIGBOM CTOJOIE, MOJOEPUTE COOTBETCTBYIOIILYIO
MIO3UIINIO U3 TIPABOTO CTOJIOMA:

Find the English equivalents to the following words and phrases:

TepMUH HA aHTJIMHCKOM SI3BIKE 3Ha4YeHHUE TEPMHUHA HA PYCCKOM SI3bIKE
1 the tooth root a JecHEBas 00po3a

2 pulp tissue 6 MOJIOYHBIC 3yOBI

3 Enamel B OCTOSTHHBIE 3yObI

4 Gingival sulcus r KOpEHb 3y0a

S milk teeth it TKaHb ITyJIBIIbI

6 Permanent teeth e IMaJIb

3anuiuy BeIOpaHHbIE OYKBBI 0J1 COOTBETCTBYIOIIMMH LIUPpAMHU
1 2 3 4 5 6

3aganune Ne6
Ilpouumaiime mexcm, gvlOepume 0OUH NPABUILHBIL OMNBEEN.

Choose the correct answer.

A tooth of enamel, dentin, cementum and pulp tissue.
1. consists

2. Is consisting

3. consisted

OrtBer:

3aganue Ne7
Ilpouumaiime mexcm, evlbepume 0OUH NPABUTILHBIL OMBEEN.

Choose the correct answer.

Itis__ hard __ crystal.



3.as...... SO
OrtBer:
3aganune Ne§

lIpouumatime mexcm, 8vibepume 0OUH NPABUTLHBIU OMEEM.

Choose the correct answer.
The tooth is supported __ the tissue consisting of the alveolar bone, gums and the

periodontal ligament.

1. by
2.0n
3.1in

OTtBerT:

3aganue Ne9
Ilpouumaiime mexcm, evlbepume 00UH NPABUTILHBIL OMBEN.

Choose the correct answer.
The tissue ___ called the nerve.

1.1is
2. Was
3. has been

OTBerT:

3amanue Nel(
Ilpouumaiime mexcm, gvlbepume 0OUH NPABUTILHBII OMBEM.

Choose the correct answer.
With the growth of the body, the jaw grows

1.bigger
2.big
3.the biggest

OTtBerT:



Kiroun K TeCTOBBIM 3aJaHUAM 110 JUCUMILIMHE (MOIYJIIO)
b1.0.14 «AHOCTpaHHBII A3BIK»
3amanue Nel.
OTBeT:
(True)
3aganue Ne2.
OTBerT:
(False)
3aganue Ne3.
OTBerT:
(True)
3ananue Ned.
OTBerT:
(False)
3aganue NeS5
OTBerT:
1 2 3 4
r II e a 0 B
3apanue Ne6
OTBeT: a
3apanue Ne7
OTBerT: a
3apanue Ne8
OTBerT: a
3aganue Ne9
OTBerT: a
3aganue Nel(
OTBeT: a

(6]
D
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